
�������� ������	


��
 ����� ��
��
����� �������
 ����������� �� ����� ������ �  ��� ��!
�
"�� ����� #!$ % ����&���
� ����" �����
�
 ����
 '�� ( 
 ")��*�� ������&

*��"+ �)� ������ , 
 *�����)� - '�

−1
( � .��&
 ���
"�� ����� , 
 - �

/ 01 23456 7 89 8 :;<;=>?@ A B;CD;E?F;G@HI J;KH>?@HLMNO PQO R S R T R UVPVWWNXY RZ[ R\ ]T^[S_`T_a bccd R e fdg h R ij Rkgl Rm

nHoHFH pqr AsA tuvw1 56 xy 0z{ |3}~560�

� � � � �

��

r2 = 10
a
R2 = 13

a
r3 = 8

a
R3 = 9

a
r4 = 7

a
R4 = 11

a
ω1 = 525

a
ω5 = 572

R

nHoHFH pqr A� A tz wu2ww6 7 3u20y
tz wu2ww60�

� � � � �

��

R2 = 13
a
R3 = 11

a
r4 = 6

a
R4 = 10

a
ω1 = 26

a
ω5 = 65

R

nHoHFH pqr A� A t1�0v563 � 6�w40�
� 6�w4{w643

� � � � �

��

r2 = 10
a
R2 = 13

a
r3 = 8

a
R3 = 11

a
r4 = 6

a
R4 = 9

a
ω1 = 104

a
ω5 = 275

R

nHoHFH pqr A� A � 51 0256 �z{� � 3z w1 {w60�

� � � � �

��

r2 = 9
a
R2 = 13

a
R3 = 10

a
r4 = 7

a
ω1 = 7

a
ω5 = 13

R

nHoHFH pqr A� A �51 �456 t4�54
�0�3z{w60�

� � � � �

��

R2 = 13
a
r3 = 9

a
R3 = 10

a
R4 = 11

a
ω1 = 520

a
ω5 = 819

R

nHoHFH pqr Ar A � 36��4 � 4�3 �3�0u5643

� � � � �

��

r2 = 9
a
R3 = 10

a
r4 = 6

a
R4 = 10

a
ω1 = 40

a
ω5 = 33

R

nHoHFH pqr A� A � �� �w60� � y0�1 0�
�0u�51 560�

� � � � �

��

r2 = 9
a
R2 = 13

a
R3 = 10

a
r4 = 7

a
ω1 = 65

a
ω5 = 54

R

nHoHFH pqr A� A �~0y 56 � 320z0�
�z3�0y 01 560�

� � � � �

��

r2 = 10
a
r3 = 8

a
R3 = 9

a
r4 = 6

a
ω1 = 45

a
ω5 = 88

R



nHoHFH pqr A� A �36wz {w6 9 0u0�3

� � � � �

��

R2 = 13
a
r3 = 7

a
R3 = 11

a
r4 = 6

a
R4 = 10

a
ω1 = 2275

a
ω5 = 4719

R

nHoHFH pqr As� A  3�31 56 tz wu2w�
�w1 �ww60�

� � � � �

�¡

r2 = 10
a
R2 = 13

a
r3 = 9

a
R3 = 9

a
r4 = 8

a
R4 = 11

a
ω1 = 104

a
ω5 = 165

R

nHoHFH pqr AssA  5z5�¢� � y0�1 0�

� � � � �

��

r2 = 11
a
r3 = 8

a
R3 = 11

a
r4 = 8

a
ω1 = 55

a
ω5 = 56

R

nHoHFH pqr As� A  }£u56 t4�54 �z w£560�

� � � � �

��

r2 = 9
a
R2 = 13

a
r3 = 8

a
R3 = 11

a
r4 = 7

a
R4 = 11

a
ω1 = 143

a
ω5 = 168

R

nHoHFH pqr As� A  �£z0¤¢4 � 3400z
¥ 36z 560�

� � � � �

��

r2 = 10
a
R3 = 9

a
r4 = 8

a
R4 = 10

a
ω1 = 9

a
ω5 = 10

R

nHoHFH pqr As� A / 01��04 t4�54
t43�5z{w60�

� � � � �

��

R2 = 13
a
R3 = 10

a
r4 = 7

a
R4 = 9

a
ω1 = 455

a
ω5 = 1404

R

nHoHFH pqr As� A 7 3y 5456 � 5��34
t43�5z{w60�

� � � � �

��

r2 = 11
a
R2 = 13

a
r3 = 9

a
R4 = 11

a
ω1 = 26

a
ω5 = 11

R

nHoHFH pqr Asr A 7 5z �31 ww63 7 31 0�
� y0�1 0w643

� � � � �

��

R2 = 13
a
R3 = 10

a
r4 = 7

a
R4 = 10

a
ω1 = 520

a
ω5 = 637

R



nHoHFH pqr As�A 7 51 5�56 7 3u20y
� �51 w60�

� � � � �

��

R2 = 13
a
r3 = 8

a
R3 = 10

a
r4 = 7

a
ω1 = 39

a
ω5 = 104

R

nHoHFH pqr As� A 7 }1 }¦u04 �w1 �w�
¥ 36z 560�

� � � � �

��

r2 = 10
a
R2 = 13

a
r3 = 8

a
R3 = 11

a
R4 = 9

a
ω1 = 60

a
ω5 = 143

R

nHoHFH pqr As� A §£456z w44¢� 70�30z
¨1 {w60�

� � � � �

�¡

r2 = 10
a
R2 = 13

a
r3 = 7

a
R4 = 11

a
ω1 = 39

a
ω5 = 80

R

nHoHFH pqr A�� A �}z�¢�56 tz0
� y0�1 0w60�

� � � � �

��

r2 = 10
a
R2 = 13

a
r3 = 7

a
R3 = 9

a
r4 = 6

a
R4 = 9

a
ω1 = 117

a
ω5 = 70

R

nHoHFH pqr A�sA �}1 u56 ���w2z36
���w2z 36560�

� � � � �

��

R2 = 13
a
r3 = 9

a
r4 = 8

a
R4 = 10

a
ω1 = 78

a
ω5 = 325

R

nHoHFH pqr A�� A �}2z 56 � 3400z
70�3�z 560�

� � � � �

��

r2 = 9
a
r3 = 8

a
R3 = 11

a
R4 = 9

a
ω1 = 11

a
ω5 = 12

R

nHoHFH pqr A�� A �� 20u563 � 3z w1 0�
tz wu234�1 5643

� � � � �

�¡

R2 = 13
a
r3 = 9

a
R3 = 11

a
r4 = 8

a
R4 = 10

a
ω1 = 4004

a
ω5 = 5265

R

nHoHFH pqr A�� A ©34�ww6 tz wu2w�
�w1 �ww60�

� � � � �

��

r2 = 10
a
r3 = 9

a
r4 = 8

a
R4 = 9

a
ω1 = 81

a
ω5 = 88

R



nHoHFH pqr A�� A ª }vw4u56 � y 0�1 0�
tz wu2ww60�

� � � � �

��

r2 = 9
a
R2 = 13

a
R3 = 10

a
r4 = 6

a
R4 = 10

a
ω1 = 13

a
ω5 = 30

R

nHoHFH pqr A�r A «w�4w63 9 3�3z{�
�w1 �ww643

� � � � �

��

r2 = 10
a
r3 = 8

a
r4 = 7

a
R4 = 10

a
ω1 = 10

a
ω5 = 11

R

nHoHFH pqr A��A «0¬ 563 tz wu234�13
/01 0zz 5643

� � � � �

��

r2 = 11
a
R2 = 13

a
r3 = 8

a
R3 = 10

a
r4 = 8

a
R4 = 9

a
ω1 = 117

a
ω5 = 220

R

nHoHFH pqr A�� A ­ 31 54563 � 31 {�
t4�1 ww643

� � � � �

��

R2 = 13
a
R3 = 11

a
r4 = 8

a
R4 = 9

a
ω1 = 585

a
ω5 = 416

R

nHoHFH pqr A�� A ­ 3¦ wzu5 t1 2w4�0�
�w1 �ww60�

� � � � �

� �

R2 = 13
a
R3 = 11

a
r4 = 8

a
R4 = 10

a
ω1 = 65

a
ω5 = 26

R

nHoHFH pqr A�� A � 54�31 w4u5 � 8

� � � � �

��

r2 = 10
a
R2 = 13

a
r3 = 8

a
R3 = 9

a
r4 = 8

a
ω1 = 52

a
ω5 = 45

R

nHoHFH pqr A� sA

� � � � �

��

r2 = 9
a
R2 = 13

a
R3 = 10

a
R4 = 9

a
ω1 = 52

a
ω5 = 81

R

nHoHFH pqr A�� A

� � � � �

��

r2 = 10
a
r3 = 7

a
R3 = 11

a
r4 = 7

a
R4 = 11

a
ω1 = 1089

a
ω5 = 392

R



nHoHFH pqr A�� A

� � � � �

��

r2 = 9
a
R2 = 13

a
r3 = 8

a
R3 = 11

a
r4 = 7

a
ω1 = 143

a
ω5 = 72

R


